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Questions

: 1. Thé sjét'em ,of linear equations
| ‘(4dv—1')x+y+z=0
-y+z=0

d-vz=0
‘ has a non-trivial s‘olu‘t,ion, if d equals |
I ® 12 @ 14
' @ 3 @ 1

2. | Eigen vector(s) of the'métrix
0 0-af . |
100”0}
10 0 0
| is (are)
meLy . @ @00
® 00D @ 00

Consider “{:hé z-tgpnsfprm X (z) =522 + 471+ 8 ; 0 <|z| <, The inverse
| z-transform x [n] is b | |

1@ 55[n+2]+35[n]+45 [n-1]
(2 ,5s[n-2]+35[n]+46[n+1]
®) 5u[n+2]+§u[n]+4u[n—1]
4 5u[n-2]+3u [n]-F4u [n+1]

eering) Code-A
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4. | If () denotes a unit impulse then Laplace Transform of -t dt’ wi]lbe |
o @ e : ’
®s 4) ‘e .
- 'B. | The state equation of LTI system is ;'epresented by :

: 0 O 01 ) Hhisss NI ARER
X= X+ By ‘ p ’ E
|2 -1 1 0 o N R

ThebE‘}igen values are . , g
1 -1,+1 @ 05+31323
@, -1-1 ‘ (4) None
6. | Line integrai can be transformed into a surface integral by using
1) Divergenbe theorem (2) Gauss theorem
(3) Stokes theorem (4) None of these
7. | Four fundamental equatmns of electromagnetxcs are known as’
| (1) Fleming'slaws | R ) Faraday’ slaws
(3) Lorentzequations - (4) Maxwell's equations L e I

8. | For alinear electromagnetic circuit, which of the folléwing statementé is | | ‘
' true? © - : . ' :
1) Field‘eﬁeréy is equal to the éofenergy

(2) Field energy is greater than the co-energy
3 .'Field energy is lesser thai the co-energy

(4)- Co-energy is Zero

PHD—EE—‘ 2018 (Electrlcal Engme ermg) Code-A
(2) |
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No.

Which of the following statements holds for the divergence of electric and

_magnetic flux

(1) Both are zero
(2) These are zero for static densities but non-zero for time varying

densities.
(3) Tt is zero for the electric flux density

(4) It is zero for the magnetic flux density

10.

A parallel plate capacitor has an electrode area of 100 mm?, with a spacing
of 0.1 mm between the electrodes. The dielectric between the plates is air
with a perm1tt1v1ty of 8.85 x 102 F/m. The charge on the capacitor is

100V. The Stored energy in the capacitor is :

(1) 8.85pJ (2) 440pd

@) 22.1nJ - (4) 44.3nd

11.

Whenever the magnetic flux changes with respect to an electric conductor’
or a coil, an EMF is induced in the conductor is Faraday’s |

(1) Fﬁst law (2) Second law
(3) Thirdlaw - (4) Fourthlaw

12,

Inside a hollow conducting sphere

(1) Electric field is zero.

(2) Electric field is a non-zero constant

(3) Electric field changes with magmtude of the charge given to the

conductor.
(4) Electric field changes with dmtance from the center of the sphere

PHD-EE-2018 (Electrical Engmeermg) Code-A
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Questions

A conductor of length L hag current I passing through it, when it 18 plaoe& : ‘
Parallel to strong magnetm ﬁeld The force expenenced by the conductor
will be , I
@ BIL B ,r;nz 5l (b
8) BI’L 4) Zero '

14.

Cork Screw rule is used to find

(1) Direction of magnetic field (2) Direction of electrlc field
®) D1rect;on of current -~ (4) Direction of emf

15.

* A point pole has a strength of 4n x10™ weber. The force in Newtons on a

point pole of 47 x15x10™ weber placed at a distance of 10 cm from it | -
willbe |
M 20N . . . (2 BN

(3 75N (4) 3.75N

16.

In a sample it is observed that a carrier‘takes 100pus to over a distaﬂée of
10 cm. If the applied external field is 10¢ V/em; find the mobohty

(1) 10"cm?Vs | (2) 10%cm*Vs
(3) 10cm?*Vs | 4 10'm?Vs

17.

The current gain of a bipolar transistor drops at high frequéncy'
because of

(1) Transistor internal capacitances

2) High current effects in the base

(3) Parasiticinductive elements |

(4) The Early effect S

PHD-EE-2018 (Electrical Engineering) Code-A
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' ﬁﬁfm : ‘ Questions
18. | A transistor Ha_s o = 0.98, then determine ..
(1) 60 2 49
® 17 ‘ 4) Noﬁe of the above b
19. | The value of emitter -capacitoz" CE in a multistage ampliﬁer is aboxit
1) O0lpF  (2) 100pF | |
(3 00IuF (4 5OuF

20. | The conduction loss versus device current charactenstlc of a power |

MOSFET is best |
(i) A parabola ) A straight line
(3) Arectangular hyperbola (4) Anexponentially decaying function -

. 21, | The hgxadecimal equivalent of the octal number 171.62is

(1) 3CLCO | 2) 79.C8
(3) 89.C7 (4 97.8C

22. | Which of the following circuit can be used as parallel to series converter ?
(1) Digital Counter | (2) Decoder ‘
(3) De-multiplexer (4) Multiplexer

23, .How many fillip-flops are required to construct a decade counter '7 |
1) 10 , @3 }
B 4 @) ‘2

PHD—EE—2018 (Electrical Engineering) Code-A
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- 24. | Which is not a type of ROM.?

| @ MaskROM - (9 PROM
@) EEPROM (4) XROM

‘ 25; A stage in shift register consist of
(1) Latch = . (2) Flipflop
(3) Byte of storage ~ (4) four bits of storage

26. | The c;}_os,eci loop transfer function of a system is

™(s) = (s+8) (s+6)

b +8* +48° — 48" +3s -2
‘The number of poles in RHP and LHP are
1) 41 it @ 14 -
B 32 o (4) 2,3

27. | For a second order system settlmg time T, = Tsec and peak time T =3 sec
The location of poles are ‘

(1) —-097+j069 ~  (2) —069+j097
® - 1.047+j 0571 @) - 0571+ j1.047

. 28. | The opén loop transfer function of a unity feedback syétem is
50
G
(5)= (1+ 01s) (1+2s)

The position, velocity and acceleration error constants are respectwely
(1) 0,0,250 () 60,0,0
®3) o, 250, oo - (@) «,50,0

PHD—EE—2018 (Electrlcal Engmeermg) Code-A
(6)
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_.29. | ‘A unity feedback system has a forward path transfer function is

10 (1+4s)
G(s)" g2 (1+S) _
If the system is subjected to an input

r (t) 1+t+ % t>0

the steady state error of the system will be
@» 1 g @ 0.1

3) 10 o 4)

30. | For the Bode plot sho'w'n in figure, the transfer function is

“w=10 o
100 g2
1+ 0.ls)3

@)

1000 &? -

@ (1+0.1s)’

3 156 s*
¢ (1+0.1¢)°

(4) None

PHD—EE—2018 (Electrlcal Engmeermg) Code—A
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31. Consider the gain-phase plot shown in fig. The gain margin
margin areé : ,
‘ dB .
2dB}
D _— ZG(jm)
2 dB}
270° 00°
@) -2dB, 4> @ 2dB,40°
(3) 2dB, 140° @ —2dB, 140°

p “3_7‘;"‘ﬁ?:ivv‘?‘xﬁ"ﬂr?'x—;-'};-::.” g
Ll T A T e

The root locus of a unity feed function is given by

et L N

32.
@) We@E+DE+2) @ k(s+1)/sE+2)
3) k.(s+2)/s('s+ 1) .. 4) ks/(s+1) s+2)
e : R 1+05s
33. | The transfer function represents
(1) Lag network (2) Lead network
(3) Lag-lead Network (4) Proportional controller
! /
~ 84. | If the stability error for a step input and speed of the response be the. "

| criteria for desigh, the suitable controller will be

(1) P Controller (2) PI Controller
(3) PD Controller 4) PID Controller

PHD—EE—2018 (Electmcal Engineering) Code-A
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35. | The open loop transfer function of a feedback system is
K (s+1)
G(s)H (s)=
@B @)=,
The nyquist plot of this system is o
b | o
(1) w=om&.=wm (2) msof‘\lt!):oom .
BRI ,/] \\ ‘)/ e
' \.4_/ . .
: : ! Nhn . : . lm .
N NP
/
So ~',I \~. "
36. | The equation for 25 cycles electric current sine wave having rms value of-
30 amps, will be :
(1) 42.4sin507t (2) 30sin50wt
(3) 80sin 257t (4) 42.4sin257t
87. | The equation of an emf is given by e=1I, [J (If"’ +‘4032L2)] sin2w0t. The
amplitude of the wave will be | " o
W Im[(R2+4m’L”)%] @ VeI, [(R=+_4;02L2)V2]
) [Im (R® + 40’} )]}é @ a1 l:(R2 + 4m2L2))é ]

B2, AT
SNSRI

PHD-EE-2018 (Electricél Engineering) Code-A‘
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N Pl . N Questions

38. | Inthe figure, the potential difference between points P and Qis

1

T A e WIS P = Ay GRS 3 s
> 't ¥ 1R A NE T

1) 6

@10 o @

shown e S \

1) OA.

@ 13A.
@) 5/6A.
@ 4A.

. PHD-EE-2018 (Electrical Engineering) Code-A
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40, |/In the figure given, the value' of R is

Nt

M 100 @ 12Q @) 180 @ 240 -

41.

In the given figure, the Thevenin eqmvalent voltage and mpedance as| -

| seen from the termmals P- Q is given by

10

s~

Unknown network

7 205> &V 10

fo

(1) 4Vand76Q (2 2Vand75Q

'(3) 4Vand5Q 4 2Vand5Q

42,

T

A/co_il having a resistance of 5 Q and inductance of 0.1 H is connected in
series with a condenser of capacitance 50uF. A constant alternating voltage

- | of 200 V is applied to the circuit. The voltage across coil at resonanceis |

1) 200V .. (@ 1188V

(3). 1800V (4 2000V

PHD—EE—2018 (Electrlcal Engmeermg) Code-A
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